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CORREC.T CIRCLE ONLY
o Mx=-3aidy=2 hen7=ry= ... A8 13, €T, D)6, .e- ® - ©
. A HCF L AXB 4 A 8 | o ; -
2. LCM = ... A_)AXB B) ree c;)HCF D)HCr ..................................................... ® | & © | @1
3 x¥32-1Misa.... cquation. A} linear, B) radical, C) cubic, D quadratic, v i @ L] © ®
4, -The lincs rcpré'scnlcd by the equations x-y~3 and x-t~y-=~2'ure ......... | _

A) paraliet, B) perpendicular, C)' intersecting, B)inclined, .......... e &® ® © ®
3. Let Py(2,0)and P,(0.2) are any lwo points maplanc then iP Pl ....... o :
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6. ... of a paraliclogram are congruent. _ _ .

A} adjacent sides, B) opposite sides, C) all sides, D) all angles, crnormernnn SO ® @ ® ©
7. InaAABC, mZA = 50° and m.£B = 30° which of the following is correct? i .

A) mBC >mAB, B) mAB > mCA, C)}mBC <mCA, D) mAB < MCA: iveeersrmsmrn ® ® ©® ®
8. Triangles are ......... A) equal in area, B) congruent, C) similar, D) concurrent, wr.: ® @ 9 © 2@
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9. . IA= then adj(A)} = o A . B . ,
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10. Quotient of Iwo confplex nuinbers is: A)real, B) imaginary, C) both ASB, D) none, .. : @ W o )
11, The simplificd form ol ( a)jx(-a}E' i5 v, 'A) 55, D)-ab C)(-a), D) ay, ® ) ® ®
12. ifloggx =3, lhénx:._........ A) 36, By g4, C) 216, D) 221, ... b e s ® ® @ '@
13, Characleristic of 0.000045 s ........ A) =4, B)5, C)~5, D} 4, oo et e o e 6
14, (a+b+e)l =i A) a2+ b4 ¢ B) a4 b+ ¢l 2(ab + bo+ca), i :

'C)a2+b2+c2+2(a+b+c), D) a%+ b2+ ¢2=2(ab+be+¢a), v S i ® e © 9 ®
15, Conjugate of (5+3V7 )i ....... n) - 1[ ,B) =5+437, C) 537, P | ' ,
D} ~5-3V7, s S e P ® © @ ©
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1. Allempt any nine of the following, At carfy equal marks, -

b3

i l!c.—.[: :] then show tha[C‘)':C

=

i NZi=6+3,2,=2-Ti tenfne: (12,42, (i)Z,-2,
i, IHlog 3=04771 and log 7=0.8450 ther ind g 21 without using logarithmic Lable,
iv. " Find the value o;‘ a’~ b3 when a~ b=-1andab=6
V. Find the product of (a~3)(a2+ 3a+ 9)
\ - vi. Faclorize 2x9-128 |
vi, By using remainder lheorem. find lhé ramainder when {2x?+ 4x2 +7x - 3} Is divided by (x+3)
viil. Find the LCM of (x?~ 8) and {x2+ x - 6) by faciorizau‘on method. |
ix, Simpriry et
X, ; Solve the radical equation 15../x+32 ='_IO
xi.” Draw the graph of the equalion y =4

xil. Find the valuo of 2+ y2 and xy when x +y= 8 and x— y=2
S.EQILQN;Q Marke: 24

ﬁbTE: Altempl any three of the following questions, All questions carry -equal marks.

2.+, Show that the pelnt A(2,3),-B(8,11), C(D,i?) and 0{~-6,9) are the vertices of a square, Also
~ ey that the diagonals of the square have equal lengths.

3. Prove that the line-segment joining the m& points of two sidos of a kriangla Is parallel o the third
: side and is equal to one half of its length, : )

4. Show thalil a ling aégmonl Intersecls tha two sldos of a trianglo In tho samg ralo, then it Is
pavailel to the third sida. . ' :

5. Construcl AABC, when mKE—-—S_Acm. mBC=6em and mCA=5.4cm, Also draw their angle
bisectors and verify their concurrency. : _



